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Please check whether you have got the right question paper.

1) Attempt any five questions in all

2) Attempt any three questions from section | and two questions from
section Il
OR
Attempt any two questions from section | and any three questions
from section Il

3) All answers should be written in the same answerbook.

4) Figures to the right indicate full marks.

SECTION - |

Q1 Explain the following terms (any four) 20

a)
b)
c)
d)
e)
f)

Management Roles

Working in networked organizations
Work-life Balance

Absenteeism

Temporariness

Positive work-environment

Q.2 Give reasons for the following statements (any four) 20

a)
b)
c)
d)
e)
f)

Attitudes are evaluative statements about objects, people or events.
Satisfied employees seem to talk more positively about the organization.
Work itself is one of the major determinants of job satisfaction.

There are four distinct responses of job dissatisfaction

Highly engaged employees have passion for their work.

Job satisfaction is negatively correlated with absenteeism.

Q.3 Discuss in detail the Equity theory of motivation. 20

Q.4 Explain the following terms (any four) 20

a)
b)
c)
d)
e)
f)

Formal and Informal group
Norms

Conformity

Group think
Brainstorming

Nominal group technique
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Q.5 Discuss how the dark side of management affects relationships in the work place.
SECTION - Il

Q.6 Give Reason for the following (any four)
a) Communication serves four major functions within an organization.
b) Lateral communication saves time and facilitates communication.
c) Filtering and emotions are barriers to effective communication.
d) Informal communication is called Grapevine.
e) Knowledge management makes right information reach right people at right time.
f) Gender differences exist in the communication process.

Q7 Define leadership. Explain Path Goal and LMX theory of Leadership.

Q.8 Write short notes on (any four)
a) Formal Power
b) Factors creating dependency
c) Sexual harassment
d) Defensive behaviour
e) Organization factors that influence political behaviour.
f) Impression Management

Q.9 State whether the following statements are True or False with reasons (any four)
a) Traditional view assumed that all conflicts are good.
b) The second step in conflict is incompatibility.
c) Conflict that hinders performance is dysfunctional conflict.
d) Personality, attitudes and values are potential sources of conflict.
e) Conflicts can have functional outcomes.
f) Distributive bargaining results in win-win outcome.

Q.10 Write a detailed note on causes and effects of occupational stress.
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